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=1 B m 35.4
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=[FE

S
Gl
I

/R
& A s G . =
i . vl =
= z -
oKt
@
No. 13 + 2.7 p {& .0
)
No. 12 + 17.6 y =l {& .0
0
No. 14 + 18.6 y =l & .0
@)
No. 16 + 7.9 y =l &
)
No. 16 + 16.4 =l &
(10)
No. 16 + 12.0 y =l &
(10)
No. 19 + 10.3 y =l &
(13)
No. 12 + 10.4 . &
(14)
No. 12 + 17.0 . &
(15)
No. 12 + 17.0 . &
(16)
No. 13 + 15.0 . &
an
No. 14 + 8.1 . &
(18)
No. 16 + 15.5 . &
(22)
No. 15 + 4.0 . &
(23)
No. 16 + 8.8 y =l &
7
No. 17 + 1.7 . &
(28)
No. 21 + 13.8 . &
(30)
No. 15 + 4.4 =l {&
W)
No. 16 + 16.2 . &
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I

g/n

(1000  1000)
SEAT-14

B f

o

1

(1000 x 1000)

B #h#t
t=10mm

UBIKERARZS (1)
AV — R E
B1000, T14F8

RBZITUR K ER

17.2

NPt

107.3

No. 17

+

17.4

30. 1

No.

17

+

17.

4

m2

3.0

No.

22

+

17.2

L4

98

URDKERFIE (2)

No.

22

+

17.2

wiliRE
(3ZAT$TUR K B EB) | No.

L4

20

t=6mm

1E KR

16.2

No.

17

+

17.4

B=200

No.
FF200-5

+

16.2

No.

17

+

17.4

EEI ()

No.

H1000 x B1000

+

16. 2

No.

+

47.5

16.2

(25}
E-i'\l
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Ui LR -
e SR 25 ffr B =L A& ‘
(S TURLK B ) COE N1
4 R H " = g =
ARl
1200 t=6mm N= 8 M
AFVVAR VE M16 L=100 N=4A&Z ¢
1200 X 2457 t=6mm N= 3 M
AFYVAR Vh M16 L=100 N=4A5 e
(E&)
PR 2 1.20X1.90X48. 77X 1 = 111.196
t=6mm 1.20X1.50X48. 77X 7 = 614.502
TRRNTREN A R4k 1.20X 1.50X48. 77X 1 = 87.786
HDZ25044% 1.20X2.00X48. 77X 1 = 117.048
1.20X2.00X48. 77X 1 = 117.048
W = 1047.580 1047.6 kg
S50 1 L4 1.89X3.06 X2 = 11.567
L-50 X 50 X 4 1.99X 3. 06X 14 = 85.252
TRRNTREN A - IRAE 1.49X3. 06 X2 =  9.119
HDZ250H43% 1.99X 3. 06 X2 = 12.179
1.99X 3. 06 X2 = 12.179

W = 130.296 130.3 kg
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H ikt « 1EKHR

N=1z(

ga PR

ioom

%

i

H His
TTAHA b
t=10mm

1EIKAR
B=200
FF200-5

(1.30X 1. 15-1. 00X 1. 00) X6

(0. 99X 2+1.10) X6

2.970

18. 480

3.0

18.5

m2
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£ 1. N2 =R = Fofn -
BALTCL ¥ & i = N=1 57
4 PR it H = H &
a7 Y—Fk 0.250X0. 170X 1. 260 X 2 = 0.107 0.11 m3
[F] 7R (0. 250+0. 170) X 1. 260X 2 = 1. 058 1.06 m2
SR 0. 900X 2X0. 995 1.79
D13
SD345 T —Z L D13 L=200 8A&
0. 200X 8X%0. 995 1.59
&t 3.38 3.4 kg
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it %

% 7 18 #% By B | @ =
avsy—rJOysET =X 1
Joy Y #EI0) = 1 L=22. 6m
JovyyEL 1:0.4 ZX2>10cm m2 31.4
FiA# BEYVSvyv—3 2 RC-40 m3 4.7
KigTLT 1% 18-8-25BB m 19.0
KigT 2% 18-8-25BB m 2.5
HET 18 18-8-40BB m 22.6
JOvIEIQ = 1 L=21. 1m
JovyiEL 1:0.4 E2>15cm m2 23.4
RiAM BEYV Sy v—F 2 RC-40 m3 6.6
KigLT 1% 18-8-25BB m 21.1
HEfET 2% 18-8-40BB m 4.4
Oy IEI(3)-1 X 1 L=28. 5m
JOovyiEL 1:0.4 %E2>10cm m2 76.0
RiAM BEYV Sy v—F 2 RC-40 m3 19.8
KigL 2% 18-8-25BB m 28.5
HET 138 18-8-40BB m 28.5
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# = A =
Al x|
% .| g | @
B P
JoysBI) [No. 12 + 17.4|No. 13 148 £ | m 22,6
(TEFHFRISH)
JOovsBEI [No. 10 + 16.0[No. 11 168 £ | m 21.1
JOoysBIG)-1[No. 14 + 7.0/No. 15 48 £ | m 28.5
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avoy—rJayoEN) B OE E 1LY
% b Hi =1 = # B |BfE
JRvyiE 1:0.4 =3 >t=10cm
(¥ z.350m) L= 2. 50+0. 80+0. 80+2. 83+3. 47+9. 70+2. 50 = 22.60 22.6 m
A= 1/2x (1.37+1. 43) x (2. 50+0. 25) = 3.85
A2=1/2x (1.43) x0.55 = 0.39
A3=1/2x (1. 46) x0.55 = 0. 40
A= 1/2x (1.46+1.54) x (0. 25+2. 83) = 4.62
A5=1/2x (1.54+1.77) x 3. 47 = 5.74
A6=1/2x (1.77+1.03) x9.70 = 13.58
A7=1/2x (1.56+0. 71) x2.50 = 2.84
A = 31.43 31.4 m2
ZiAvhY-+
(18-8-25BB) V= 31.4x0.10 = 3.14 3.1 m3
EABA V1= 1/2x (0. 18+0. 20) x (2. 50+0. 25) = 0.52
(RC-40) V2=1/2x (0. 20) x0.55 = 0.06
V3=1/2x (0.21) x0.55 = 0.06
V4= 1/2 x (0. 21+0. 24) x (0. 25+2. 83) = 0.69
V5= 1/2 x (0. 24+0. 33) x 3. 47 = 0.99
V6= 1/2 x (0. 33+0.08) x9.70 = 1.99
V7= 1/2 % (0. 26+0. 09) x 2. 50 = 0.44
YA = 4.74 4.7 m3
B #th#f
(T7244 pt=10) A= (1.56+1.77) x0.45 = 1.50 1.5 m2
KigT 1H [=19.0 = 19. 00 19.0 m
(18-8-25BB)
KigT 2# [=2.5 = 2.50 2.5 m
(18-8-25BB)
HE#T 18 L=22.6 = 22.60 22.6 m
(18-8-40BB)
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avoy—+rJavHEQ i OE 1st%tyY
% W it = = # B |Em
Jovyyig 1:0.4 =3 > t=15cm
(¥ z.350m) L= 4.00+2. 00+3. 20+4. 80+4. 43+2. 70 = 21.13 21.1 m
A1=1/2x (0.09) x1.22 = 0.05
A2=1/2 x (0.09+0. 70) x 4. 20 = 1.66
A3=1/2x (0.07+1.27) x4.80 = 3.22
AM=1/2x (3.25+3.17) x4.43 = 14.22
A5=1/2x (1.60+1.58) x2.70 4.29
A = 23. 44 23.4 m2
FiAav9Y-b
(18-8-25BB) V= 23.4x0.15 = 3.51 3.5 m3
ZARAR Vi=1/2x% (0.12) x5.20 = 0. 31
(RC-40) V2= 1/2 % (0. 12+0. 32) x 4. 80 = 1.06
V3= 1/2 % (0.95+0.91) x4.43 = 4.12
V4= 1/2 % (0. 43+0.42) x2.70 = 1.15
A = 6. 64 6.6 m3
B th#t
(T5254+t=10) A= (0.70+3.17) x0.50 = 1.94 1.9 m2
XigT 1H [=21.13 = 21.13 21.1 m
(18-8-25BB)
HE@T 28 L=4.43 = 4.43 4.4 m
(18-8-40BB)
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avo)—+rJOvoEQ) -1 H E 1= Y
% b Hi =1 = # B |BfE
Jovyyig 1:0.4 =3 >t=10cm
(¥ z.350m) L= 2.44+8.16+4.86+7.8+5.2 = 28. 46 28.5 m
Al=1/2x (2.33+2.37) x2.44 = 5.713
A2=1/2x (2.37+2.91) x8.16 = 21.54
A3=1/2x (2.91+2.37) x4.86 = 12.83
A= 1/2x (2.37+2.58) x7.80 = 19. 31
A5=1/2 x (2.58+3. 80) x5.20 16. 59
A = 76.00 76.0 m?2
ZiAVhY-+
(18-8-25BB) V= 76.0x0.10 = 7.60 7.6 m3
=S8y V1= 1/2 % (0. 61+0. 85) x 8. 16 = 5.96
(RC-40) V2= 1/2 % (0. 85+0. 61) x 4. 86 = 3.55
V3=1/2x (0. 61+0. 70) x 7. 80 = 5. 11
V4= 1/2 % (0. 70+1. 31) x5.20 = 5.23
A = 19. 84 19.8 m3
B #th#f
(T5254+t=10) A= (2.33+2.91+2.58) x0.45 = 3.52 3.5 m?2
XigT 2% L= 28.46 = 28. 46 28.5 m
(18-8-25BB)
HigTr 184 L= 28.46 = 28. 46 28.5 m
(18-8-40BB)
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fh 8 Mt T % & & 5t =x
A 7 i 1% B | # =
BT = 1
BRERHIEM T | b 4B E—LF H=1100 R/<>3m m 127.2
FhEEHM T Gr-C-2B m 40.1
hEEMERET (1) Gr-LE!fERE H=500R1 %@Ll L m 40.1
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# = A =
3 &= x| -
%2 W .| g | &
= = -
SREFHIEM T No. 12 + 6.0|No. 15 + 18.5] & m 55.8
+rhisA
ABR E— LEY No. 16 + 9.9INo. 17 + 3.9 & m 17.0
H=1100 X/X%>3m
No. 14 + 12.5{No. 15 + 9.3| A m 20. 4
No. 16 + 3.6|No. 17 + 14.9| & m 34.0
=1 m 127.2
FhEEM T No. 12 + 17.4|{No. 13 + 13.2| k& m 19.0
Gr-C-2B BRI1EE
No. 10 + 16.0{No. 11 + 16.8] & m 21.1
=1 m 40. 1
FHEEMBEAET (1) INo. 12 + 17.4|No. 13 + 13.2| & m 19.0
Gr-LEgEE |[BRI=E
H=500 No. 10 + 16.0{No. 11 + 16.8] & m 21.1
GEZYES
=1 m 40. 1
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WEIHE X
= Fi R & B &% E| R =
HEMET o 1
LERET HIEAEHE N-30 t=15cm m ,207 | 2206.5
TEBRET| BEUARE RC-40 t=35cm m ,207 | 2206.5
TEEZEET BRER m 960 959. 7
SEWHET = 1
BREET|  BAEULARE RC-40 t=10cm m 118 | 1117.6
THEEET BRER m a7 470.9
XEHET = 1
BREET|  BAEULARE RC-40 t=15cm m 183 183
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HET H OFE O£

% L & g = M E |BEAE ®E
BHEHET
TERET (H41) NO.12+12.9~N0. 19+9. 1
(PLERRRER) 9.00x136.2 = 1225.8
M-30 t=15cm [CADIZ& % (Z) NO.13{tik = 19.0
CADIZ& % (£) NO.15+10. 0~NO. 17+2. 0fix = 164.0
CADIZ& % (£) NO.15+3.0~N0. 16+17. 0fHix = 213.0
1/2 % (9.00+8.00) x35.0 = 297.5
8.00x35.9 = 287.2
a5t = 2206. 5
TERET
(BEUARR) EiEE LERBI &5H&V
RC-40 t=35cm a5t = 2206.5 | m
TERETI |ERLIEHEEOG) &Y
&R it = 959.7 | m
SEWET
PRAET CADIZ&k% (£) NO.13+3.0~NO0. 13+5. 04tz = 5.0
(BEVLARR) (Z) NO. 13+5.4~N0. 15+7. 65
RC-40 t=10cm |2.78x42.25 = 117.5
(4D CADIZ&k% (&) NO.15+10. 0~NO. 164F38 = 58.0
CADIZ&k% (&) NO.16+12.0~NO. 17+3. 543k = 80.0
(%) NO. 17+9.95~N0. 23
1.98x70.05 = 138.7
1/2x (1.98+3.78) x10. 2 = 29.4
3.78%x3.6 = 13.6
2.78x26.2 = 12.8
Ef/NEt = 5150 | m
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HET H O FE £
£ o it =1 =X # = |BEA| B E
SESHET
PRAET (&) NO. 12+12.90~NO0. 15+0. 53
(BEYLARR) |2.78x47.63 132.4
RC-40 t=10cm [CADIZ&k 3 (FH) NO.15+1.85~N0. 15+13. 0458 = 65.0
(B CADIZ&3 (£) NO.16+4. 5~NO. 16+18. 84Fik = 57.0
(/) NO. 16+14. 74~N0. 23
2.78x125. 26 = 348.2
HENEE = 602.6 | ni
=
515. 0+602. 6 = 1117.6 | m
FEEBEFT (BERISHAEEZ6G) LY
&5t = 470.9 | m
TEHE
RAET CADIZ& 3 (&) NO.13~NO. 14+7. 3{HE (HEBHRIEHS D)
(BEYARR) &5t = 183.0 | m
RC-40 t=15cm
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Mt &# T #% = B
# o b3} % B I # = | 1 =
BEREIRT Eah 1
BEREIPT m x 59 |N=19+16+11+13
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WEI#E &K X

% FR 5 1% B I3 2| ¥
BEMRET = 1
BEYIET B o )—+k m 6. 7
‘|Ha o )—k m 9.0
HEMBUEL| TRI7ILMEZE t=15emLLF m 340. 0
aAvy— hRE t=15cmEl T m 117.0
SHERRUIET| 229 — MEEE t=15emLTF m 4.4
OB ALIE T TRAI7ILE 3 13.6
oo )—+ m’ 6.7
‘BHaro)—k m’ 20 7
SRS T m’ 0.01
KB EYMRET =t 1
VPERZE - 0H T IBEERE ¢150 m 99. 4
BREEVZANAME BEITSH t 0.2
XERGFRERT = 1
X EARGEREAR EEELED m 2810.0
X ERGEFREARE R % 1
82 & Y 30cmk i x 216
& Y30cml E N 443
XERGERL S t 98.9
XBEARGEARL KL S t 46. 1
X ERKIBLS MRS t 44 8
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W = I & i i £ 1Y
% b B = = = |HBfi
BEYRETL
BiEYERIET
Y |(BMEIEMHEFEELY
UFi&
300B 3. m3
360B 1. m3
BEET (5)
HP ¢ 300 .0 | m3
=5 71 m3
EEEEY |(BEIHEUMBESEEZLY
BEEET (1) 9.0 | m3
SR EEL |[CADIRED
As t=15cmlAF [A=340.0 340.0 | m2
Con t=15cmEAF |A=117.0 117.0 | m2
L= RR LI B
Con t=15cmATF |L= 2.0 + 2.2 4.4 m
EifET
POER IR
(FRZ7ILE) |[V= 340.0x0.04 13.6 | m3
(B Co) V= 6.7 6.7 [ m3
(#&# Co) V= 90+ (117.0x0.10) 20.7 | m3
FBiRAMST 0.023x4.4x%x0.04 0.01 m3
HoKEEMEHET
VPERZE - Ly |IEEBERE
¢ 150 L= 29.4 29.4 m
BREENZAAEE (ETSH)
EE 29.4x 6.701kg/m 0.2 t
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BMEIEMHB=EHZE
i
2 o . Hi - = H =
E=1
UFE x No 14 + 6.7 ~ No. 14 + 12,0 fHE 17.7 im
(300B) p No 14 + 120 ~ No. 14 + 14.8 {Hk 6.4 im
p No 14 + 120 ~ No. 15 + 16.4 {hk 38.5 im
TMEHRE
¥ No. 4 + 16.0 ~ No. 4 17.2 fhk& 1.8 im
L =| 64.4 im
\Y = 2L X A
= 644 x 0.05510 = 3.5 im3
400
‘ 300 50 HEEIERLY
A= 0.05510 i
260 60
%
[
300
T 1
E -
% b . H g = B =
b=l
UFE A No 15 + 3.5 ~ No 15 + 11.8 {hE 17.9 im
(360B)
L =| 17.9 im
\% = L X A
= 17.9 X 0. 06930 = 1.2 im3
460 ‘
REHEIEMEELY
360 50
‘ ‘ A= 0.06930 m
310 e
%
D J

360
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MEIBRNHBERAS
& # &t H e =
BEET(5) TMEHRR
(HP ¢ 300) No. 2 + 101 ~  No. 4 + 17.4 fHE 49.5 im
L =| 49.5 im
\Y > L X A
= 49.5 «x 0. 04036 = 2.0 im3
BHEIEMELY
A= 0.04036 m
20
BERET (1) TEFHRISHR
(oY iahEes) No. 10 + 160 ~ No. 11 +  16.8 {E
CADIZ& D
A = 8.0 + 2.0 =| 10.0 im
MEHRISH
No. 11 + 16.8 ~ No 12 + 2.8 {hE 6.0 im
A = H x  fk x L
= 2.5 x 1.04 x 6.0 =| 15.6 im
A =| 25.6 im
\Y = A x 0.35
= 25.6 X 0.35 = 9.0 im3
S
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]
£ ¥R ! v g i
B
EET(2) No. 17 + 1.2|No. 18 3.4 m 29.4
(VP ¢ 150)
a 29.4
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W = I & & i & 1Y
% i 5 =} = #} B |BAE| B A
TEREFERERLT 1] &K
FEREEEZIE|CADIZKY
530 + 470 + 700 + 470 + 640 2810.0 | i
[£ERBEEST]
~20cm3k 7 = 133 | &
20~ 30cmsk i = 83 | &
INEE = 216 | K
30~ 60cmsk i = 343 | K
60~ 90cm3k i SE(E = 63 | &
90cm~ B = 37 | K
INEF = 443 | K
=5 659 | =&
FREARRIRAARER 1] =
2 Y 30cm=E i = 216 | X
EE Y 30cmil Lk 443 | X
98.9 + 46.1 + 44.8 = 189.8 | t
XERLRLSY | 659 (&) x 0.15(t /&) = 98.9 | t
TREREZENS | 659 (K) x 0.07(( /%K) = 46. 1 t
(RIBA5)
TREAREZBELS | 640 (m2) x 0.07(t/m2) = 4.8 | t
(Frifans)
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